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FT FT FT FT EA £A £A EA £A EA FT FT EA EA EA EA £A EA £A FT EA LUMP | LUMP
Q £-6 1253 CL SR 2 410+69.41-412+05.83 137
LD-8 1253 CL SR 2 417+05.83 / / Z
£E-7 1253 CL SR 2 412+05.83-413+41.46 136
LD-9 1253 CL SR 2 413+41.46 / / Z
£-8 1253 CL SR 2 413+41.46-414+72.98 132
LD-10 1253 CL SR 2 414+72.98 / / Z
£-9 1253 CL SR 2 414+72.98-416+04.84 132
LO-1 1253 CL SR 2 116+04.84 / / Z
E-10 1253 CL SR 2 416+04.84-417+38.63 136 >
O LD-12 1253 CL SR 2 417+38.63 / / Z o
<
E-1l 1253 CL SR 2 417+38.63-417+50.00 il §
R-1 1254 L7 SR 2 4]9+88.68 - |
R-2 1254 CL SR 2 424+72.30 (/p]
R-3 1254 CL SR 2 429+29.15 o0
=)
»
£-1 1254 CL SR 2 417+50.00-418+74.1! 124 0
LD-13 1254 CL SR 2 418+74.11 / / Z =
£-2 1254 CL SR 2 418+74.11-420+10.30 136 —
LO-14 1254 CL SR 2 420+10.30 / / Z
£-3 1254 CL Sk 2 420+10.30-421+44.29 134 -+
)
LD-15 1254 CL SR 2 421+44.29 / / 2z —
£-4 1254 CL SR 2 421+44.29-422+78.98 135 -
LD-16 1254 CL SR 2 422+78.98 / / Z
g RB-12 1254 CL SR 2 424+13.76 / / Z
2 E-5 1254 CL SR 2 424+13.76-425+47.87 134
S| RB-1I 1254 CL SR 2 425+47.87 / / Z
E-6 1254 CL SR 2 425+47.87-426+78.97 131
% RB-10 1254 CL SR 2 426+78.97 ! / 2z
w
é £E-7 1254 CL SR 2 426+78.97-428+15.09 136
=1 FB-9 1254 CL SR 2 428+15.09 / / Z
e E-8 1254 CL SR 2 428+15.09-429+46.86 132
<l RB-8 1254 CL SR 2 429+46.86 / / Z
O é £-9 1254 CL SR 7 429+46.86-430+00.00 53
S
R-1 1255 CL SR 2 434+08.49
<l RZ 1255 CL SR 7 438+87.17
e
§ E-] 1255 CL SR 2 430+00.00-430+80.87 81
@ RB-7 1255 CL SR 2 430+80.87 / / Z
9 £-2 1255 CL SR 2 430+80.87-432+13.75 133 &N
1 RB-6 1255 CL SR 2 432+13.75 / / Z ™
% E-3 1255 CL SR 2 432+13.75-433+44.34 131 ofs
o -
| RB-5 1255 CL SR 2 433+44.34 ] ! 2 N
g £-4 1255 CL SR 2 433+44.34-434+77.33 133 !
é RB-4 1255 CL SR 2 434+77,33 / / Z X
= £-5 1255 CL SR 2 434+77.33-436+08.35 131 <
g:g RB-3 1255 CL SR 2 436+08.35 / / Z -
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